Unit 4—Exponential & Logarithmic Functions

Practice SWIG Name: e \i

4.A. Understand the relationships between exponential functions and their graphs.

1. What is the range of y = 4(0.5)*-27
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2. Write an example n_exponential decay function.
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3. Which type of function is represented in the graph?
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Use the graph above for #3 and 4

4.B. Model and evaluate applications involving exponential growth and decay. |
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5. The population of Cicero is 35,000 and increasing at the rate of 3% per year.
Write a growth model to represent this situation.
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6. The tiger population beginning in 2003 at an African Wildlife Park can be represented by
the model of y=4500(.94)".

a. How many lions are in the park in 20037

4500 |

b. Based on the model, are the number of lions increasing or decreasing?
I Deammmﬂ becamie oY < 1, so Ahis s Cle,q;mé .

¢. What percent of the lion population grows/decays each year?
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You deposit $5500 in an account that pays 5% interest per year. How much will be in the

account at the end of five years if the bank:
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4.C. Understand how to move between exponential and logarithmic forms.

9. Rewrite the equation in exponential form: y=log,z
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10. Rewrite the equation in logarithmic form: 5" =625
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4.D. Simplify logarithmic expressions.

11. Evaluate: log,10 \'x 3.3219 1 s -f%uﬁ“ A€ e "zpfcmes
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4.E. Solve exponential and logarithmic equations
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16. You invest $6,000 in an account earning 7.5% annual interest compounded yearly
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17. Expand the expression: log3x? 4

B
Use 03 (m»\q) 9@) m%\og}om |
T * i P
.3 tilog x & @")F' CI T e M o
o l log 3 + 2. \Qgﬂ P pm?w%ﬂ.}m\
I
—
18. Condense the expression: BWMZIny @s,ﬁ > ‘Qﬂ.b(%xto%m o,
3 \(\X “WZ\V\B L\Eﬂg—/ f{; le)cj W [Qxﬁ&m?
— \)Y‘\ Moo \W\j

- (g




